
1 OF 204-2011

I.S.-PARKING STAND  KIT (970415)

4166763 REV A
INTRODUCTION:  This instruction sheet covers the installation of the Parking Stand Kit onto the Steiner 
SB448 and SB545 Snowblowers.

REF. DESCRIPTION
Default/
QTY. REF. DESCRIPTION

Default/
QTY.

1 Parking stand 1 9 Hex. bolt 3/8” n.c. x 1 1/2” 1

2 Sleeve 1 10 Flange nut 5/16” n.c. 1

3 Sleeve 1 11 Nylon insert lock nut 5/16” n.c. 1

4 Skid shoe 1 12 Nylon insert lock nut 3/8” n.c. 2

5 Spring 1/2” 1 13 Flange nut 3/8” n.c. 1

6 Handgrip 1 14 Hex. nut 5/16” n.c. 1

7 Hex. bolt 5/16” n.c.  x 4” 1 15 Hex. nut M12 x 1.75 1

8 Hex. bolt 3/8” n.c. x 1” 1 16 Flat washer 3/8” hole 8

12  

5  

11  

13  

8  

14  

16  

10  

1  

2  

16  

15  

16  

4  

12  

3  

9  

7  

6  



2 OF 2

PARKING STAND KIT #970415  
ENSEMBLE DE PIED DE STATIONNEMENT #970415  

INSTALLATION    

Instruction Sheet  4166763

Install the kit according to the following instructions:  
Installer l’ensemble selon les instructions suivantes:   

INSTALLATION:  

1.  Drill two holes (item 1) using the drilling template that is included in the bag.  

2.  Install as shown. Refer to part breakdown and list of the bag for identification of the parts.  

NOTE: Do not tighten the nut that holds the spring too tightly.   

INSTALLATION:   
1.  Percer deux trous (item 1) à l’aide du gabarit de perçage inclus dans le sac.  

2.  Installer tel qu’illustré en vous référant à la nomenclature des pièces et à la liste du sac pour identifi-

cation  des pièces.  

NOTE: ne pas trop serrer l’écrou qui tient le ressort.   

FI_970415   L-02   


